
 

 

Week No -2 

 

 Three phase rectifier circuits by using diodes . 
 

 Output voltage waveform, diode current waveform. 
 

 Output voltage equation in case of resistive load . 
 

 

  

 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
  
              Three-Phase Half Wave Rectifier            



    Waveform of Vout 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

3-phase (Fw)Rectifiers 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

Three-phase full-wave bridge rectifier with filter 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



waveforms 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ا



Example  
 

The rectifier in Fig is operated from 460 V 50 Hz 

supply at secondary side and the load  

resistance is R=20. If the source inductance is 

negligible, determine (a) Rectification efficiency, 

(b) Form factor (c) Ripple factor (d) Peak inverse 

voltage (PIV) of each 

diode. 
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medium power applications particularly as the input stage of the dc link 

 
 
 
 

Lesson Summary 

• Three phase uncontrolled rectifiers are available in half wave and full wave 
configuration. 

• Three phase uncontrolled half wave rectifier require three phase four wire 
power supply. 

• The input ac line current in a three phase uncontrolled half wave rectifier 
contain dc component which may cause “dc saturation” of input 
transformer. 

• Three phase full wave uncontrolled rectifier is most widely used in the 
medium power applications particularly as the input stage of the dc link 
inverter. 

• Three phase full wave uncontrolled rectifier uses six diodes instead of three 
of the half wave rectifier. 
 
 

 


